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‘Instructions forCompIe_ting._Thi,s Table:

‘ Check or mark any |tem(s) requmng a comment.and explaln the issue in'the' space. provrded using-the gurde below

1.

Check each JPM for appropnate admrnrstratrve top|c requwements (COO EC; Rad and EP) or safety funct|on requwements and correspondrng K/A Mark in. column 1

(ES-301,D. 3andD. 4)

" Determine the Ievel of drfl' culty (LOD) usmg an establrshed 1—5 ratlng scale. Levels 1 and 5 represent an: mappropnate (low or hlgh) dlscrlmlnatory level for the Ilcense
- that is béing tested Mark in column 2 (Appendrx D, C.1 i o , » :

In- column 3, "Attrlbutes check the appropnate box: when an attrrbute is'not met

0" The initial condltrons and/or mrtratrng cue is clear to ensure the operator understands the task and how' to begln (Appendlx C, B 4)

The. JPM contarns appropnate cues that' clearly mdlcate when they should be prowded to'the examlnee Cues are-objective’ and not léading. (Appendlx C,D. 1)
Al critical steps (elements) are properly |dent|ﬁed

' The scope of the- task is not too narrow (N) or too broad (B). :

- Excessive: overlap does not occur with other parts of the operating test or. wntten examlnatlon (ES—301 ‘D.1.a; and ES-301 D2a) -

The task performance standard clearly descnbes the expected outcome (| e, end state) Each perfonnance step |dent|ﬁes a standard for successful
completion of the’ step o .

' ?l:l A valrd marked up key was’ provrded (e s graph mterpretatlon rnltlaled steps for handouts)

D_l':rijljfm

‘For column 4, "Job Content check the appropnate box if the )ob content flaw does not meet the followmg elements

O Topics-are linked.to the job content (e.g., nota dlsgmsed task task required in real ]Ob)

‘0 The JPM has meaningful perfonnance requirements’ that will prowde a Iegltlmate basrs for evaluatlng the appllcant's understandlng and ability to safely
operate the plant (ES-301 D.2. c) : . o :

‘Based on the reviewer's Judgment |s the JPM as wrltten (U)nacceptable (requmng reparr or replacement) in- need of (E)nhancement or (S)atrsfactory'? Mark the answer
“in column 5 . ; v ,

~In column; 6, provide a brief description of any’(U)nacceptable'Or ‘(E)nhancement'rating, from column 5

Save initial review commerits and détail subsequent comment resolutioh so that each exam-bound JPM is marked by a (S)atisfactory resolution on this form.




ES-301 3 -Form ES-301-7
-Facility: Scenario: - A _ Exam Date:
4 2 .3 4 | 5 | % 7 8 9. : 10
Event | Realism/»()re.d.v 'Tgilgfsd: Vaeéut\:f:;e ‘oo |18 | CTs .' oii?{’a'p' CUESS \ Expldition
1 23 | X | s
12 29| X X | s
-3 | 29 X s
4 - 3.0 X s -
|5 1 31 . |l s
‘6 33 X X S
7 3.2 X s
3.3 3 U f SAME OPERATOR'ACTION AS EVENT 4 IN SCENARIO 2
K:] R ¢ oo REPLACED THIS EVENT WITH NEW. EVENT '




ES-301 , ' 4 N | Form ES-301-7

Facility: : Scenario: 2  Exam Date:
1 2 1. 3 4 . 5 6 . 7 28 ai 9. ‘ .10
Event iRe‘alismlCred. FZe:t:g;esd V:g;?:: LOD . TS ¢ CTs . Os‘/i?g p“ .'U/E/S_ . : . Explanation

1 23 | X 8

2 29 X s

3 33 | X X S

4 33 | X | X S

5 35 | ‘ S

6 33 | X S
"7 3.2 . ‘ 1 X s
|8 32 | - =,
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Instructions for Completing This Table:
Use this table for each scenario for evaluation. - : .

2 - Check this box if the events are not related (e g., seismic.event followed by a; prpe rupture) ORifthe events do not obey thelaws of physrcs and thennodynamrcs.
3,4 'In columns 3 and 4, check the box if there is no venﬁable or requlred actron as applrcable Examples of requrred actrons are as follows (ES 301 D. 5f) ‘
e opening, closing, and throttlrng valves 2= o o

e starting and stopping equrpment
e - raising and lowering- level flow, and pressure
e making decisions and giving drrectrons : : ; :
e . acknowledging or venfyrng key alarms and automatic actions. (Uncomplrcated events that require no operator action beyond thrs
should not be included on the operating test unless they are- necessary 'to set the stage for subsequent events. (Appendrx D, B.3). )
Check this box if the level of diffi iculty is not appropriate. ' .
- Check this box.if the event has a TS:

Check this box if the event has.a: crrtrcal task (CT) If the same' CT covers more than one event check the event where the CT started. only

‘Check this box if the event overlaps with another event on any-of the last two NRC examrnatrons (Appendrx D, C. 1 £ :

Based on the revrewer’s judgment is the event as wrrtten (U)nacceptable (requrrrng reparr or. replacement) in need of (E)nhancement or- (S)atrsfactory’? Mark the answer
in column 9. ; _ , . :

10- Record any explanatrons of the events here.

©.® N o o

“In the shaded boxes, sum. the number of check marks in each column

‘e -~ In'column 1, sum the number of events. . ‘

e - Incolumns 2—4 record the total number of check marks for each column.

e. . In-column5; based -on'the revrewers ]udgement place a checkmark only if the scenario 's LOD is not’ appropnate

¢ incolunn6, TS are requrred to be 2 2 for each. scenario. (ES-301 D. 5. d)-

o Incolumn.7, preidentified CTs.should be 2 2 for each.scenario. (Appendix D; ES-301 D. 5.d; ES-301~4)

.o . Incolumn 8; record the. number of events not used on the two previous NRC initial lrcensrng exams. A scenario is consrdered
unsatisfactory if there is < 2 new events. (ES-301 &} 5. b Appendrx D, C 1.f) ‘ = BTG - 5%, = :

«  Incolumn 9,-record whether the scenano as wrrtten (U)nacceptable |n need of (E)nhancement or (S)atlsfactory from column 11 of the srmulator
scenario table - - ~ Jh )
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ES-301
‘Facility: =~ - T EER T R - Exam Date: _ :
1. o 3| -a-] s 6 | 7. | 8 | ‘ i BRK
Scenario - ‘Event. ”_Events TS TS :CT 0T DSA’ Unsat: ’, “:U/EIS‘ : V : “ - ‘ s E)_(plla_nation‘
Totals | Unsat. | Total. | Unsat. | Total |-Unsat. | >¢€nano o i
‘ . T : anle =|C -Elements _

1. s f1 o |3 o {2 |o [125 |'s

2. |8 o [3 |o |2 o |[o

s {7 o (3 10 J2]8 o

Instructions-for Completing This Table:
- Check or mark any item(s) requmng comment and ‘explain the issue in the space provided.
1 '3,5. . Foreach. simulator scenario, enter the total number of ‘events (column 1), TS entnes/actlons (column 3) and CTs (column. 5)
Thrs number should match.the respectwe scenario from the event-based scenano ‘tables (the sum from columns 1,6, and 7, respectlvely)
2,4,6 For each simulator scenano evaluate each event TS, and CT as (S)atisfactory, (E)nhance, or (U)nsatlsfactory based on 'the following criteria:

‘a. Events. Each.eventi is descnbed on a "Form ES-D- 2, including all switch manlpulatrons pertrnent alarms, and verifiable actlons Event actions are balanced
‘between at-the-controls- and balance-of plant applicants dunng the scenario. "All event-related attnbutes on Form ES-301-4 are miet. Enter the total number of

unsatisfactory . events in column. 2 , ‘
b. TS. A.scenario includes at least two. TS entneslactlons across ‘at least two drfferent events TS entnes and: actlons are detarled on Form ES-D-2._ Enter
the total number. of unsatlsfactory TS entrles/actlons in column 4. (ES- 301 D.5d). 5] ; e - »

c. CT Check that a‘'scenario mcludes at least two preldentlf‘ ed CTs “Fhis criterion is a target quantltatlve attnbute not an absolute mmlmum requrrement Check
that each CT i is exphcrtly bounded on Fonn ES D-2.with measurable performance standards (see Appendlx D). Enter the total number of unsatisfactory CTs'in .

column 6:
1. ¥ 4+ 6
T _ ln column 7, calculate the. percentage of unsatlsfactory scenano elements (m) 100 A)
8 - I the value in column 7 is > 20%, mark the scenano as (U)nsatrsfactory in- column 8. lf column 7 is <20%, annotate with (E)nhancement or (S)atrsfactory
9 _In-column 9, explain each unsatlsfactory event, TS,:and CT. Edrtonal comments can also be added.here. :

Save initial review comments and detall subsequent comment resolutlon so that each exam bound scenario.is- marked by a (S)atlsfactory resolution on thls form




_ES-301 8 Lol ~_ FormES-301-7
Site name: | | Exam Date:
S ~ OPERATING.TEST TOTALS
| - | Tota | Total | Total | 9 o
jTotal | Unsat | Edits | ‘sat | Ursat ‘ Explanatlon e,
. Admin. 5 : - s 5 MINOR' EDlTS ko) CLARIFY INITIATlNG
~JPMs . CUES
Sim/in-Plant | . | 10 i1 MINOR EDITSTO CLARIFY INlTlATING
Y R (R SREEY R BEE CUES |
_ = _‘SCENARIO1 EVENT 8 HAD THE SAME ~
e - OPERATOR'ACTION-AS EVENT 4IN .
Boenalios 3 - B 1 8 ' SCENARIO 2. REPLACED EVENT 8 WITH
' NEWEVENT
op.Test | .. | T DT
" Totals: 23 T I 1 23 | °

Instruct|ons for Completmg Thls Table

I Update data for this table from quality reviews and totals in the previous | tables and then calculate the percentage of
,total items that are unsatlsfactory and give an explanatlon in the space provrded :

1.

Enter the total number of items submitted for the operatrng test in the “Total” column. For example if

"' nine admlnlstratrve JPMs were submitted, enter “9” in the “Total” items column for admlmstratlve JPMs
: For scenarros enter the’ total number of S|mulator scenanos ‘ :

'Enter the total number of (U)nsatrsfactory JPMs and scenarios. from the two JPMs column 5 and

snmulator scenanos column 8in the prewous tables Provrde an explanatron |n the space provnded

Enter totals. for (E)nhancements needed and (S)atlsfactory JPMs. and sceriarios from the preVIous ’

~ tables. This task is for tracking only:

- Total each column and enter the amounts in the “Op Test Totals row.

,Calculate the percentage of the operatlng test that is (U)nsatrsfactory (Op Test Total Unsat )/(Op Test

Total) and place this value in the bolded “%- Unsat cell:

, Refer to ES-501 ,E.3.a, ;to rate ,th'e overall operatmg test asfolloWS,i

»  satisfactory, if the “Op. Test Total” “% Unsat.” is < 20%

.- unsatlsfactory, if. “Op Test Total” “% Unsat.”.is > 20% o : _— ,
Update this table and the tables above with post-exam changes- if the “as-administered’ operating test
requrred content-changes, lncludlng the following: SRR T ‘ '

e ThedPM performance standards were incorrect.

. The administrative JPM tasks/keys were incorrect. ,

o. ~ CTs were incorrect in the scenanos (not mcludlng postscenano critical tasks deflned in
Appendlx D). ; : : :

. The EOP strategy was incorrect in a scenarlo(s)

. TS entrles/actlons were determlned to be mcorrect ina scenarro(s)






